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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 30: 2) Byg5=
1.
2.
3 1, 3_ 4) 2 -
(77) (7>2) 3
4,
5 9_ 6
) (8x3)°= A .
6.
7) 80: 8) 78y 75=
7.
8.
9) 53 % 52 — 10) 4_8 _ .
10.
11) 71 — 12) (8 6)9 — "
12.
13) 48 % 4-7 — 14) 44 % 43: .
14.
15) (84)3 — 16) 63 % 6—9 — s
16.
17) 30: 18) gl= o
18.
19 20 3\5 —
) 8'5 = ) (5)°= 19.
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
1) 0= L 2 3,95z 535 . .
N 33 -5
K ( 1/7 )= 1/73 V7=’ :—72 x 2 3 1/73
. 72 5 22
) (@8x3°=_8"x3 VT . 8x3
6. 1/48
7 = 1 8 ,8,5= B+5 ) 1
8. 7ot
9) 53x52= 53*2 10) 48 = 1/48 . 53 +2
10. 1/48
1) - - 12 gxg)P°= & x6 N .
2 _ 8°x6
13) g8y g7= 487 14) g4, 8= 44+3 o 487
" 44 +3
15) (84)3 — 84 x 3 16) 63 % 6-9 — 63 -9 s 84 x 3
6 60
M = 1 18 gl= ¢ . 1
18. 6
19) 8'5 _ 1/85 20) ( 53)5 — 53 x5 1. l/85
0 572
v Yoo 1 CEEEECEEEEE
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
0
V7= VA .
2.
4,
5 1, 7_ 6) 8_
(73) = 48= 5
6.
7) 8_— 8) ,0_

(7x9)°= 3 = -
8.
9) (25)4: 10) 41= .
10.
11) 49, 46= 12) (73)5 — .
12.
13) 66« g9= 14) (73)5 — s
14.
15) 50 - 16) (3 6)7 _ .
16.
17) 51 — 18) 85 % 8—9 — .
18.
19) 48 % 4-3 — 20) 41 — N
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 70 _ 1 2) ( 1/3 )3 _ 1/33 ) 1
2, l/33
3 2xgd= 6213 4) (8x3)8: g8 x 3B . g2+ 3
. 88 5 38
) ( 1/8 ) = 1/87 ? g0= 1/48 5. / 8’
6. 1/48
N @x9f=_7'xd’ 9= 1 . Pxd
8. 1
9) (25)4 = p5x4 10) 4t = 4 . 25 X 4
10. 4
1) 9, 76= 7946 12) (73)5 = $3x5 . £9+6
T
13) bupg9= 09 14) (73)5 = £3%5 - 689
w_ 170
) 5= 1 16) 3xg)’= 3'x6 5 1
16. 3" x6’
17) gl 5 18) g5, 9= g5-9 . 5
18, 8> °
19) 484 43= 48-3 20) 4= 4 o 28-3
20, 4
GEIETIED [P R 2 (A
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) (34)8: 2) 41:
1.
2.
3) 22 X 26 = 4 4‘2 = 3
4,
5 1, 4_ 6) _6_
(79)*= 6°= 5.
6.
7 8 A0_
) 34= ) 6 = 7.
8.
9) 9 10) 1 6 —
(46) ( /2 ) - 9.
10.
11) (7 x 6)6 — 12) 43 % 49 — "
12.
13) (78)6 - 14) 90 - .
14.
15) 92 % 9-3 — 16) 82 % 8—7 — s
16.
17) 55 b= 18) 60 _ o
18.
19) 8 — 200 1, 5_
(9x7) (75) )
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
1.
2. 4
3 2 6 — 2+6 4 1
) 2x2f= 2 ) 42= 72 ) 22+6
1
4 4?
5 1, 4_ 1 6) 6_ 1 1
(/9)4_ /94 6°= /66 5, 9t
1
6. / 6°
7 8 0_ 1
) 3= v 6= 1 7 /3
8. 1
9) 9_ 6x9 10) _ 1 6x09
(4 4 ( /2 )6 - /26 9. 4 *
1
10. /. 26
11) (7 x 6)6: 76 % 66 12) 43 % 49: 43+ 9 " 76 » 66
b 43 +9
13) (78)6 = 8x6 14) 90 _ 1 . 486
14. 1
15 2ygd3= ¢2-3 16) g2,g7= g7 - 923
6 8
17) By b= 56 18) 60= 1 o 25+6
18, 1
19 8_ 8 8 20 1 1 8 8
) @x7B= x7 ) (75)3= /s 9. 9 x7
1
20. /. 53
1-10 [95[90(85|80| 75| 70| 65 60 | 55 | 50
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) ql= 2) 6l= )
2.
3) ZI/ 4_ 4) 40:
(7g) = 3.
4.
5) (88)4 _ 6) By o2= .
6.
7 2l x 3= 8) 9= -
8.
9 A2 — 10
) (@)= ) 6°= .
10.
11) 8 A5 12) 1
3 x3°= (73 )e= 11.
12.
13 1 14 9_
) (/3)8: ) (6x3)"= 13
14.
15) 80 — 16) 1= .
16.
17) (84)4: 18) 46y 48= .
18.
19) 60 — 20) g5, g8= 0
20.
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ﬂh Rewriting Using the Laws of Exponents

Name: Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
1) ql= 3 2) 6l= 6 ) 3
2 6
3 1 4) 0_ 1
) (7g)'= g ) 4= L 3 /gt
a 1
6 23-2
N 2'x2= 2'*F ¥ gi= Y . 2t
1
8. /. 9*
9 a4\2 _ 4% 2 10
)@= 9 ) 65= Vg o 91
1
10. / 6°
11) 8 ~5— 8+5 12) 1 1
) FxP= 3 D (= Y L S
1
12. g°
13 14 9_ A9 .9 1
(= Y ) (6x3°=_67x3 s /¥
14, 69 X 39
15) 80 = 1 16) 1= 2 15 1
16. 2
1) @4t= g4 18) 46, g8=  46-8 o g4
o 40
0
19) 6 = 1 20) PHxgd= g°+8 N 1
x_ 8"°
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 51: 2) (7><3)7= )
2.
3) (6 x 7)5 — 4) (35)7 — X
4,
5 2y 2= 6) 53y 57= i
6.
7) 7— 8) &0 _
(9x8)'= 9 = 7
8.
9 10 1
) 2= ) (/5)°= )
10.
11) oO— 12) -
8 9g'= 11.
12.
13) 21 — 14) 37 % 3-7 — s
14.
15) 1, g_ 16) -1_—
(75) 7 15,
16.
17) b« g4= 18) 56 8= .
18.
19 20 NP
) 59 = ) (3)°= 19,
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
D) gl= 5 2) (7 x 3)7: 77 % 37 ) 5
N 77 % 37
Y o367 Y @y= F s ExT
. 35 x7
5 2, 02= 2+2 6) g3,57= 53+7 ) 242
6 53 +7
D (9x8’= 9'x8 9 9= 1 . 9'xgf
8. 1
) yo= 1/22 10 (7/5)°= l/25 3 7 2
1
10. 2
1 g'= + ) 9'= 1/97 11. 1
12. l/97
13 1= 5 14) o7, 7= -7 " 5
3"
15) (7e S 1/56 16) 7= 7 15. l/56
16. /
17) oxgd= b4 18) 6, 8= 68 . gb- 4
w2070
19) . 9_ 1/59 20) (34)5 — 34 x5 1. l/59
o __ 30
GEETIED [ S 2 e R e
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) (27)2: 2) 90:
1.
2.
3) Ay 35= 4) (78)4 = ;
4,
5) 24x29: 6) 81: i
6.
) gty g5= 8) (1/4)8_ ,
8.
10.
11) 0= 12) 0 .
12.
13 9_ 14
) (4x5)"= ) (1/4)9: 13,
14.
15 1, 4_ 16) ;43,8 —
( / g) — (4°) 15.
16.
17 18) o1 —
) 4%= ) 8 = 17.
18.
19) 33 % 3-2 — 20) 54 % 57 — N
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
D (2= o7*? 2 ¢°= 1 ) 7 %2
2 1
3) gA,35= 345 4) (78)4 = 84 . 345
A
5) 24x29= 24+9 6) 81= 8 . 24+9
6. 8
7) 9% x g5= g*-5 8) (1/4)8_ 1/48 , 94_5
8. l/48
D (7x9P= TPx 0 gt= 5 o 7Px 9
10. o)
) ¢°= 1 2 = 1 . 1
12 1
1) (ax5®= 47x5° TN 5 42 x5°
14, l/49
15) : 1/8 oo 1/84 16) (g38=  43*8 - l/84
6 48
1 6 1/46 18) gl 3 . 1/46
18. 8
19) 3, g2=  g3-2 20 g4y g7z ght7 o 33-2
xn 577
v Yoo 6 SEEEECEEEEE
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
2.
3) 1 8 — 4) 1 =
(75) 5 3
4,
5) 31= 6) 49x49: i
6.
0
7) 2 = 8) (66)7 = -
8.
9) (7 x 6)6 — 10) 88 % 84 — N
10.
1) N0 12) 1, g_
2 (7. 5) 11.
12.
13) 35 % 3-3 — 14) 9_9 _ .
14.
15) (88)8 — 16) 77 % 7-8 — s
16.
17 18 8 _
) 4%= ) (3x7)"= 17.
18.
19) gl 20) 20 _ "
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
D @8x6)®= &x6° 2 ©5°= 6" . 8x6°
N 63 X 6
3) ( 1/5 8= 1/58 Y gl= 5 N 1/58
a. S
5 3l= 3 6) 2% 4%= 49*9 . 3
6 49 +9
7 = 1 8) 6%'= %7 § 1
N 66 x7
9) (7x6)6: 26 66 10) g8, gt= gB+4 . 26 66
o__ 87"
W 20 = 1 2 ( 1/5 )9 = 1/59 11. 1
12. l/59
13) 35, 93=  35-3 14) g9 = 1/99 o 35-3
14, l/99
15) (88)8 — 88 x 8 16) 77 % 7-8 — 77-8 s 88 x 8
T
17) 42= 1/42 18) (3% 7)8 = 3Ix7° 17. l/42
s 3" x7°
19) gl 6 20) 50— 1 . 6
20. 1
[ 7ot Yowomoomemn 7 e EmEEEE
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 1, 4_ 2) 21—
(75)"= 4 1
2.
4,
5) 9_4: 6) 96x92: i
6.
N 1, a_ 8 1, 3_
(76)"= (72) 7
8.
9) 91: 10) (5x4)7= N
10.
11) 45, 48= 12) 20: Y
12.
0
D 4= Y (@x2)= o
14.
0
= (5%°= 1 5= 15,
16.
17) 57y 2= 18) 59, 32= .
18.
19 20) ,1_—
) 9°= ) 4'= )
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
Y Teyts Y Dat= 4 3 2
2 4
3) (28F= 2876 YV ghugt= 44 N 8% 6
P
¥ gtz Y D P’z o 5 /g
6 96 +2
AN A, "
N/
9 gl= o 10 (5x4)7= 5 x4’ . 9
10. 57 x 4
1) g5, 8= 45-8 12) 20 _ 1 . 45-8
12 1
13) 0= 1 14) (8x2)°8= 88x2° " 1
14, g° x 2°
15) (56)8 = 68 16) 50 — 1 . 56 x 8
16. 1
17) 5Ty o2=  o7-2 18) 59, 52=  59+2 . o7 -2
s 37
19 45 1/9 20) g= 4 19, l/95
20, 4
GETETIED [P - R 2 (A
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 75>< 7—6: 2) 60: L
2.
3 1, 5_ 4) 5\5 —
(74) (9) 8
4,
5 67 x 0= 6) (3><6)3= i
6.
7) 59 % 5—6 — 8) 7—8 _ ,
8.
) (5x3) = RPLE 0
10.
11) 50 — 12) (8 9)2 — "
12.
13) 9« b= 14) ( 42)7 — s
14.
15) 25 % 23 — 16) 68 % 6-4 — s
16.
17) 1, 5_ 18) o1-
(76)°= 6 17.
18.
19) 0_ 20
) 4 = ) (]/2 )6— 19.
20.
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Rewriting Using the Laws of Exponents Name. Answer Key
Usethelaw of exponentsto rewrite each problem. Answers
) 45,76= 56 2 = 1 ) £5-6
2 1
3 1 1 4 5\5 — 5x5 1
) (V8= Ve ) (®°= 9 N /0
. 95 x5
6 33 % 63
N 87x5%=  &°° Vre= Y ., 57
1
8. /. 7
9) (5 x 3)7: 57 % 37 10) 8= 1/28 N 57 x 37
1
10. /. 28
0
11) O 12 gx92= §x9 N 1
12. 8” x 9°
13) xel= 26 14) (42)7 S . 69 +6
u 4
18) 5, 3= o5+3 16) g8, g4z 84 o 253
8-4
16. 6
1
17 1 1 18) A1_—
: (/6)3: /63 ) 6'= 6 17. 6°
18, 6
0
19 4°= 20) ( 1/2 )6 = 1/26 19. 1
1
20. /. 2°
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Rewriting Using the Laws of Exponents Name:
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 6 9 = 2) 1 5-
6° %6 (7/7)°= L
2.
3 4 0_
) 43= ) 8= 3
4,
5) (4 8 = 6) 6—2 _
- 5.
6.
7 O— 8) 6—
5= (9x2)°= ,
8.
9) 8 = 10) 1 9_
(8 x 4) ( /6 ) - 9.
10.
M (2x3?= ) 38= 11
12.
13) 43 % 44: 14) 61 — a
14.
15) 60 — 16) gl= .
16.
17) 81 — 18) 35 % 3-9 — .
18.
19) 27 % 2—5 — 20) 33 % 36 — N
20.
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ﬂh Rewriting Using the Laws of Exponents

Name. Answer Key
Usethelaw of exponentsto rewrite each problem. ANnswers
1) 6 ~9— 6+9 2 1 _ 1
6°x 6 6 (7%= Vs . g0t
1
2 /. 7°
0_ 1
9 43= 1/43 K 8 = L 3 /, 43
4, 1
5 8 — 9x8 6 ) 1
) (4 = 4 ) 62: /62 c 49><8
1
6. / 6
0
N"g= 1 8 (9x2)°= 90x2" , 1
N 96 5 26
9 8 _ 8 8 10
) (8x4®=_ &' x4 : (76)°= Vg o 8 x4°
1
10, / 6
11) (2 X 3)2 = 22 % 32 12) 3_8 — ]/38 11 22 % 32
1
12. /. 3P
13) 43 x 44 = p3+4 14) 6l= 6 - 43+4
14. 6
15) 60= 1 16) gl= 6 . 1
16. 6
17) gl= 3 18) Px39= P9 . 3
18 39
19) 27x2'5= 27-5 20) 33X36: 33+6 1 27-5
0 3O
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